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PART -}
I Apswer 3l the questmm 14%x1=14
1. Ifthe ordered parrs (a2, 4) and ( 5, 2a + b) are equal the o b) 1
a2 b5 1) ¢ {2, d (3, -2)
2. Usiné Evchid's division lemma, 1f the cubes of any pmm\ ¢ miegers 1§ doaded by 9 then the possible
reandinders are
..‘0_ L8 b.1.4,8 c. 0,13 d. 1,35
3 I 6umeof the 6™ term of an A Pis equal o 7 times the 7" terma then the 13" term of the A P 15
a0 b 6 ¢ 7 d 13
3v—=3 Tv-7
4 = =18
‘\- :‘I“_.
o oy 2yt —a2p+21 - -2+
a —= b — ¢ — ,'\ d ( - -
j < 2ly=21 3y L
S. The solution of (2x—1) =9 is equal 1o
a. -1 b.2 o -1.2 d. none
6. In ALMN, [£ =80, [A =30°. If A LMN ~APQR then the value of |R is
a 40° b. 70° c. 30° d 110°
7. The area of miangle formed by the points (-3, 0), (0. -5) and (3. 0) 13
a 0 sq. unis b. 25 sq. units c. S sq. units d None
8. A smaight line has equaton 8y = 4x + 21. Which of the following 1= trus?
a. The slope is 0.5 and vy — mtercept 2.6 b. The slope 15 0.3 and vy — mtercept 1.0
c. The slope is 3 and y — intercept 1.6 d. The slope 1s 3 and y — miarcept 2.6

9. Ifthe ratio of the height of a tower and the length of its shadow is \/— 1. then the zngle of elevesion of the
sun has measure.

a 45° b. 30° c. 90° d. o0°
10. The height of a right circular cone whose radius 5 cm and slant height 1s 13cm will be
al2cm b. 10 cm c. 13 cm d3Scm
11. Which of the following is incorrect?
a P(A)>1 b.0 0 P(A) <1 c.PA)=0 d P(A)+PA=1
12. A quadratic polynomial whose one zero 5 and sum of Lhe zeross 1s 0 1s givan by
ax —25 b.x* -3 c. xX- 3% d x-3x+3
13. If the points (0, 0) (a, 0) and (0, b) are collinear, then
aa=b b.a+b=0 c.ab=0 da=0
14. When three coins are tossed, the probability of getting the same face on 2ll the thres comns 15
a 1/8 b. 1/4 c.3/8 d 173
PART-1I
Answer the following questions. Queston no. 28 is compulsory. 10x2=20

15, IFB x A= {-2,3), (-2, 4), (0, 3), (0. 4), (3, 3), (3, 4) find A 2nd B.

16. Let A= {1,2,3,7} and B= { 3, 0, -1, 7}, which of the following are relation from A0 B?
O R ={2, D} (7 1} @) R2={(2,-1). (7. 7). (1, 3)}

17. Is 7 x 5 x 3 x 2 + 3 a composite number? Jusufy your answer.

18. Find the number of terms inthe AP 3,6,9,12 ....__......... 111

5 61—12
19. Simplify 7 X

20. Solve the quadratic equation 2x2 — 5% + 2 = 0 by formula method.
1. In AABC, D and E are points on the sides AB and AC respectively such that

AD
If———— d AC = 15cm find AE.
DE ||BC. DB 2 an

2. Find the area of the tnangle formed by the point. (1, -1), (-4, 6) and (-3, -5).
23 Find the slope of a line joining the given points (-6, 1) and (-3. '7)
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s
From the top of a tree of height 13m the angle of elevation and depression of the tOp
tree are 45° and 30° respectively. Find the height of the second tree, (1f3 = 1.732).

The external radius and the length of a hallow wooden log are 16cm and 13cm respectivel)r'-
is 4 cm then find its T.S.A.

and bottom of another

1f its thickness

_ What is the probability that a leep year selected at random will contain 53 Saturdays. 5 =
. The roots of the equation X%+ 6x -4 = 0 are o,B. Find the quadratic equation whose roots are & and B~

(OR) :
A solid sphere and a solid hemisphere have equal total surface area. Prove that the ratio of their volume 1S

3\/5 14

PART —-1II

_ Answer the following questions. Question No. 42 is compulsory. 10x 5=50
Let A = The set of all natural numbers less than 8, B = The set of all Prime numbers less than 8, C = the set

of even prime number. Verify that (A NB)xC=(AxC) N BxC).~

Represent the given relation {(x,y)/y=x+ 3, x, y are natural numbers < 10} by

a) an arrow diagram, b) a graph and 1 c) a set in roster form.

If P PR x P x P x P =1 13400 where Py, P2, P3, Py are primes in ascending order and xi, Xz, X3, X are

integers, find the values of Pj, P, P3, Py and xi, Xa, X3, Xs.

Find the values of ‘a’ and ‘b’ if the 4x* —12x° +37x” +bx +a is a perfect squares.

Solve:x +y+z=5;2x—-y+z=9, x—-2y+3z= 16.

A ball rolls down a slope and travels a distance d =t — 0.75t feet in t seconds. Find the time when the
distance travelled by the ball is 11.25 feet. .

State and prove Pythagoras theorem. - @ B 6 @

Find the area of the quadrilateral whose vertices are at (-9, 0), (-8, 6), (-1, -2) and (-6, -3)~

Without using Pythagoras theorem, show that the points (1, -4), (2, -3) and (4, -7) form a right angled
triangle. :

An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in the $ame direction. The
angles of depression of the boats as observed from the aeroplane are 60° and 30° respectively. Find the

distance between the two boats. (\/5 =1.732).

s

. A line makes positive intercepts on coordinates axes whose sum is 7 and it passes through (-3, 8). Find the
equation. 6

The Frustum shaped outer position of the table
lamp has to be painted including the top part.
Find the total cost of painting the lamp if the
cost of paining 1 sq. cm is Rs. 2.

The outer and the inner surface areas of a spherical copper shell are 576 7 cm™ and 324 = cm’ respectively.

Find the volume of the mz}terial required to make the shell.

From a well shuffled pack of 52 cards, one card is drawn at random. Find the probability of getting (1) red

card (ii) heart card (iii) red King (iv) face card (v) number card : 2

In an A.P. sum of four consecutive terms is 28 and their sum of their squares is 276. Find the four numbers.
(OR)

The angles of elevation and depression of the top and bottom of a lamp post from the top of a 66m high

apartment are 60° and 30° respectively. Find

@ The height of the lamp post '

(i)  The difference between height of the lamp post and the apartment .

(i)  The distance between the lamp post and the apartment. (\F =1.732),
: PART -1V :
Answer all the questions: 8x2=16

Draw the two tagtients from a point which is 10cm away from the centre of a circle of radius Sem. Also,

measure the len of the tangents. ‘
Draw a triangle’ABC of base BC = 5.6cm, |4 =40° and the bisector of |4 meets BC at D such that CD =4

m. : : :
E}raph the’following quadratic equation x> — 4x + 4 =0 and state their nature of solutions
; (OR)

Deaw the graph of y = x2 + 3x — 4 and hence use it io*ic;l;ze x> +3x—-4=0,

Kindly send me your district question papers to our whatsapp number: 7358965593
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Choose the correct answer from the given four alternatives and write the option code and correspondj
onding

answer,
I Ifn(AxB)=6and A ={1, 3} thenn(B) is .... ldx1=14

al b.2 c.3 d. 6
2. Given Fi=1, F;=3 and F, = F,.;+F, then Fs is

a3 b. S c.8 d 11
3. The sum of the exponents of prime factors in the prime factorization of 1729 is

a l b.2 c.3 d 4
4. Graph of a quadratic equation is

a. straight line b. circle c. parabola d. hyperbola

8410
5. The square root of ‘—2&\’6}}6;_ is equal to
25x7ytz”
s fo\F s p, 161 . S S
517 50y 54zt 5 |xz*

6. If in AABC, DE||BC. AB =3.6cm, AC =2.4cm and AD =2.1cm the length of AE is

a. l.4cm b. 1.8cm c. 1.2cm d. 1.05cm
7. How many tangents can be drawn to the circle from an exterior point?

a one b. two c. infinite d. zero
8. The area of triangle formed by the points (-5, 0) (0, -5) and (5,0) is

a. 0 sq. units b. 25sq. units c. 5. Sq. units d. none of these

9. [If the ratio of the height of a tower and the length of its shadow is \/3_‘ . 1, then the angle of elevation of the
sun has measure.

a. 45° b. 30° c. 90° d. 60°

10. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
a. 12cm b. 10cm c. 13cm d. S5cm

11. The total surface area of a hemi-sphere is how much times the square of its radius.
aTm b. 4n c.3m d. 2w

12. A page is selected at random from a book. The probability that the digit at units place of the page number
chosenislessthan 7is ...........
a 3/10 b. 7/10 c. 3/9 d. 7/9

13. The perimeter of a triangle formed by the points (0, 0) (1, 0) and (0, 1) is
a 2 b.2 c.2+42 d 2-2

14. The GCD of a™, a™", a™"? is

a. a” ban] cam 2 d 1
PART -1I |
Answer any 10 questions. Question No. 28 is compulsory. 10x2=20

15. fA={1,3,5} B={2,3} thenfind AxBand B x A _ ;
16. For the given relation R = {(1, 3) (2, 5) (4, 7) (5, 9) (3,1)} wnte the domain and Range.
17. If 800 = a° x b then find the value of a and b.

400x* 1221
100x*y*z?
2
_ Determine the nature of the root of x"—x—1=0. L5 5 =
f]lg IfeAABC _ADEF such that area of A ABC is 9cm? and the area of ADEF is 16em? and BC = 2.1 cm. Find

the length of EF. : ' .

1 Fiid the equation of the line passing through the point (3, -4) having flope =-5/7

> Find the area of the triangle whose vertices are (-3, 5) (5, 6) and (5, -2). . .

23. From the top of atock 50+/3 m high the angle of depression of a car on the ground is observed to be 30°.
: Find the distance of the.ca.r from the rock.

24. Find the angle of elevation of the fop ofato

foot of a tower of height 10 ﬁ m

18. Find the square root

[S MW

wer ﬁ'orﬁ a point on the ground which is 30m away from the

Kindly send me your district question papers to our whatsapp number: 7358965593
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25, Rind the digmetor of u sphere whose aurfico aren fa 1 54m’, ‘

20, Wirite the sample space for solacting two Lol frop o by contiining 0 badlse ovirnbred 1 1o 6 uspig o
diagrany, :

27, In two concentrie cireles
radius 1s Gem, Find the radius ol the Tarper eirelo

28, a1 the highest common factor ol 210 qinl 55 tw oxpresniblo i the form 55x W20 i »

(OR)
ones are in the rtio T2 and the pevimeters of their bivies ate in the rie

o chord of fenpth Toem of farger cirale bocomen npent 1o the sialler cirels v

b The heghts ol'two circular ¢
4. Find the ratio ol their volumes
PART - 1
oy, 1G7 5 50
2} and C =y o Nfx -3y, then verify that /1/(/:")/')

Answer any 10 questions, Question No. 2 is compult
29, Let A={ve Njl<x<dl B={vell 05X

= (AIXBYU(ANC)

30 Lt N ={1,2, 3,45} Y¢
DR = LD EDE O OGN
G Re= (1L DEDE D EDE )
i) Ry = 1(1.3) (2, ) (@, 1 (5.6) B, D)

1,3, 5,79, 9} which of the following are relution from X oYY

highest common factor of 396, 504, and 630,

31 Use Fuclid’s Division Algorithm to find the
32. Find the square root of 37x% = 28x* +dx! +42x + 9

> 5 S B oo f
33, Ifocand P are the 2x" - 7x+5=0 find the values of i) —+ = (i) —+~—

o f Y/

34. State and prove Thales theorem.
35. Find the area of the quadrilateral formed by the points (8, 6) (5, 11) (-5, 1‘2) and (-4, 3). :
36. A line makes positive intercepts on co-ordinate axes whose sum is 7 and its passes through (-3, 8) find its

equation.
37. From the top of the tower 60m high the angles of depression of the to

are observed to be 38° and 60° respectively. Find the height of the Jamp post (tan 38° = 0.7813”,
1.732)
38. A vessel is in the form of a hemispherical bowl mounted by a hollow cylinder. The diameter is 14cm and

height of the vessel is 13cm. Find the capacity of the vessel.
39 If the circumference of a conical wooden piece is 484cm then find its volume when its height is 105cm.
40. A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ba}l] is drawn at random from the

bag. Find the probability that ball drawn is p
(1) white (i) black or red c. not white d. neithér white nor black

41. A-status 1.6m tall stands on the top of a pedestal from a point on the ground thé angle of elevation of the top
of the statue is 60 and from the same point the angle of elevation of the top of the pedestal is 40. Find the

height of the pedestal. (tan 40 = 0.8391 V3 =1.732). ’

‘ ' 2 (4-BY 2(x*+1
42. a. If Az—l——,B:—l— prove that (A+B) +(A ) = (x }
x+1 x+1 A+B x(x+1)

p and bottom of a vertical lamp post

\6:

(OR)
b. Show that the angle bisectors of a triangle are concurrent.
PART -1V 2x8=16
43. Draw a tangent to the circle from the point P having radius 3.6cm and centre at a point P is at the distance

7.2 cm from the centre.
(OR)

b. construct a triangle similar to a given triangle PQR with its sides are equal to 2/3 of the corresponding
sides of the triangle PQR (Scale factor 2/3 <1),

44, a. Draw the graph of x2 + x — 12 = 0 and state the nature of their solution.
(OR)

b, Draw the graph y = (x-1) (x+3) and hence use it to solve x> = x — 6= 0.
A2k ok 3Ok
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PART ~1
I. .Choose the correct answer: , 14 x1 =14
. Ifn(AxB)=6and A={1,3}thenn(B)is ....
a. 1 b. 2. c.3 d. 6
2 If6 times of 6™ term of an A.P. is equal to 7 tintes the 7* term, then the 13" term of the AP is
a. 0 b. 6 c.7 d. 13
3 An AP consists of 31 terms. If its 16 term is ‘m’, then sum of all the terms of this A.P is
a. 16m b. 62m c.31lm d.31/2m
4. The number of points of intersection of the quadratic polynomial x* + 4x+4 with the x-axis is...
a.0 b. 1 ~ c.0orl , d 2
5. If (x—6) is the HCF of x*-2x-24 and x* -kx-6 then the value of k is
a.3 b. 5 c.6 d.8
6. In ALMN, LL=60°, 4 =500 1 ALMN ~APQR then the value of R is
a. 40° b. 70° c. 30° d. 110°

7. Ina given figure ST || QR, PS =2 cm and SQ = 3cm. Then the ratio of the area of APQR to the area
of APST is : 2

a. 254 b. 25:7
c. 251 d.25:13 AN
8. The area of triangle formed by the points (-5,0), (0,-5) and (5,0)is ~ * T , R
a. 0 sq. units b. 25 sq. units C. 5 5¢. units d. none of these
. W ; ; v
9. The slope of the line is 75— then slope of the perpendicular bisector of Q) is
a. \f3 b.- 3 [ ey d.o

NG)

10. If the ratio of the height of a tower and the length of its shadow is J3: 1, then the angle of elevation
of the sun has measure.
a. 45° b. 30° . €. 90° d. 60°
I'1. The height of a right circular cone whose radius is 5 cm and slant height is 13 cm will be
a. 12cm b. 10cm c. 13cm d. S5cm :
" The total surface area of a cylinder whose radius is 1/3 of its heightis

2 . 87h’ 56h’
4 sq.uts b. 247h” sq.uts C. Z sq.uts d. ——;[—h—sq.uts

13. Which of the following is incorrect? :
a. P(A)>] b. 0< P(4)<] c. P(§)=0 d. P(4)+P(4)=1

14. The probability of getting a job for a person is g . If the probability of not getting the job —i— . Then the

; value of x 1s

a2 b. 1 c.3 d. 1.5
PART-B .
1. Answer the following questions. Questions No. 28 is compulsory: 10x2 =20

15.1f A= (2, -2,3},B={1,-4} thenfind ())AxB, (i) BxA
16. Find all positive integers whixh when divided by 3 and leaves remainder 2.
17. Find the first terms and common difference of the AP, whose p® term is, tn = -3 + 2n.

18. Find the LCM of the expression . p° —3p+2, p’—4.
19. Solve the quadratic equation by factorization method 4x* = Tx-2=0. N
20.Is A4ABC ~ APOC ? If'so find x. : - f?

x
‘ H 3 g 3 (553
Kindly send me your district question papers to our whatsapp number: 7358965593


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net X www.CBSEtips.in
9

. the 10361_&“ equ 3“0" whose sum and plOdULt Orl()ﬂl‘) nre (J 20

J the area of the triangle formed by the pmnu( 10, -4), (-8, -1) and (-3, -5)

ind the siope of imwmmm the pomnts (5, J5) and (0, 0).

N . y he
24 From the wop ofaroe ek S0 43 nfugh ihe i““"k‘ ol delC\‘dOl’l ol car on the }U()Und 15 ol ,LrVLd (o

10° Find the distance of the car from the rock
| radius and the len g.lh of'a hollow wooden log are
m then find s TS A
Jled once. Find th ¢ probability of getting (1) a doublet (i) the sum as |
~= & and B are two events such that P(A) = 042 P(13) = 0.48 then find
i} P{px¢ f\‘r 1) P (not B)
ad the 197 term of an Ap, ~11, =15, -19,

Loem and dcm respectively. I the

(OR)
Find the square root of 4" + 20x + 25.
PART - [l
questions. Question No. 42 is compulsory.
3.4}, C={3.5) verify Ax (B NC) =(AxB) ] (AxC).
Lz -a.2.n > 3.0 eN, then find ﬁrst six terms of'the sequence.
£&% 2nd 8% term ofan AP is 7 : 9. Find the ratio of 9 term to 13" term.

10 x5 =50
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zre oot of 4x7528% +37x +42x + 9.

Proportonality Theorem.

a:":r.e “xamla’aa} whose vertices are (-9, 0), (-8, 6) (-1, -2) and (-6, -3).

2.-3), C(1.-3), D(x, y) form a parallelogram then find the values of x and y

S his igh sower makes an angle of elevation of 60° with the bottom of an electronic pole

levzrion of 30° with the top of the pole. What is the height of the electric pole?

———13m= 21 20 zimde of 1800m finds that two boats are sailing towards it in the same directions.
=iz of depression of the boats 2s observed from the aeroplane is 60° and 30° respectively. Find
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“h2 Geznne berween the two boats. (+/3 = 1.732)

32 A spiid ron cylinder has T.S A of 1848 m. Its C.S.A_is five — sixth of its total surface Area. Find the
rzdms znd height of the cylinder.

47 Thres &7 coins zre tossed wogether. Find the probability of getting.
(@ heads - - (11) ztlezst one tail (iii) atmost one head (iv) atmost two tails

]
£1. Represent the givea relation by

. A serinroser form ‘ o
R={{x T) /v=x+3, % y are natural numbers < 10}

Fizd the G.C D of the polynomials

(OR)
5. Show thet the given poinis forma right angled triangle and check whether they satisfies Pythagoras
Theorem. A{1,-%). B2, -3), ((4,-7)

PART - IV
IV. Ancwer the following guestions; 2x8 =16
43 Dz the two tzngerts from 2 point which is Sem away from the centre of a circle of radius 3em. Also

mezsre the Lengh of the tangents.
(OR)
Coosruz APQR, such thaet OR = 6.5 cm, |P = 60° and the attitude from P 10 QR is of length 4.5 cm. >
AL Cq:::: she following quadratic equation and state the nature of solution X’ =9=10
D;"éﬁmgzgﬁ:my— 3"-— 4 mdhﬁwesoive % ((317:)17 0,
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